WLS-DIS-Annual (1/1/2016 12:00:00 AM - 1/1/2017 12:00:00 AM 24 / 7)

»

E=IDNS: DNSDHCP2

. Average Uptime Good
Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 99.985 % [114d9h32m40s 99.95 % | |[55947]
=" NWOCA HTTP 180 msec 0.015 % 24m11s 0.05% |[28]
=il |nternet
£$127.0.0.1 (Local Probe)
= 99.866 % [98d6h50m57s 99.793 %I [46828]
=" NWOCA HTTP 42 msec 0.134 % [3h10m34s 0.207 % |1|[97]
EPowerSchool - Office Side
£$127.0.0.1 (Local Probe)
»
= 99.865 % [98d6h45m32s 99.787 % [|146825]
=" NWOCA HTTP 43 msec 0.135 % [3h10m41s 0.213 % |||[100]
»
EPowerSchool - Teacher
£4127.0.0.1 (Local Probe)
»
= 99.865 % [98d6h52m33s 99.795 % [[146827]
=" NWOCA HTTP 66 msec 0.135 % (3h10m48s 0.205 % ||[96]
»
EPowerSchool - Parent / Student
£$127.0.0.1 (Local Probe)
»
= 100 % [114d9h59m15s 100 % [l 189556)
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
[ JBarracuda wis-Noc-001
E 127.0.0.1 (Local Probe)
»
= 100 % [114d9h48m53s 100 % [l 155966)
=5 Server Room HTTP 211 msec 0% [0s 0% M|0]
»
[[TJBarracuda WLs-NOC-001
£%127.0.0.1 (Local Probe)
»
= 100 % [114d10h6m23s 100 % [l 189558)
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
[IBarracuda wis-Noc-012
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h55m56s 100 %I[55963]
= Server Room HTTP 190 msec 0% [0s 0% Mo]
[IBarracuda wis-Noc-012
E 127.0.0.1 (Local Probe)
= 100 %I [114d10h5m44s 99.996 %I[s9557]
= Server Room PING 0 msec 0% [0s 0.004 % M|[4]
[ cafe
£%127.0.0.1 (Local Probe)
= 100 %I [114d9h56m30s 99.989 % [[55966]
= Server Room HTTPS 22 msec 0% 0s 0.011% 6]
5] cafe
£4127.0.0.1 (Local Probe)
= 100 %I [114d10h5m48s 100 %I[89561]
=5-Server Room PING 0 msec 0% [0s 0 %Mo)
E=CPS
$127.0.0.1 (Local Probe)
= 99.971 % [113d13h16m21s 99.974 % [[89156]
=5-Server Room PING 0 msec 0.029 % [48mO0s 0.026% |123]
E=IDNS: DNSDHCP
£$127.0.0.1 (Local Probe)
»
= 99.25 %I [112d15h56m35s 98.923 %I[549501
=" Server Room DNs 1 msec 0.75 % [20h25m20s 1.077 % M|1598]
»
E=DNS: DNSDHCP
£$127.0.0.1 (Local Probe)
»
= 97.713 % [110d23h25m48s 98.591 % [l 187928
=" Server Room PING 0 msec 2.287 % [2d14h21m0s 1.409 % W|[1257]
»
E=IDNS: DNSDHCP2
£$127.0.0.1 (Local Probe)
»
= 100 % [110d23h10m38s 99.985 % [(54334]
=5-Server Room DNS 1 msec 0% [0s 0.015% |8]
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»

Eliprint-hs

. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
££127.0.0.1 (Local Probe)
= 9 9
=" Server Room 100 % [114d9h58m36s 99.993 % [[89555]
R PING 0 msec 0 %I [0s 0.007 % /161
EEIECOPY
E 127.0.0.1 (Local Probe)
»
= 100 %I [114d9h45m48s 99.997 %I[89555]
= Server Room PING 0 msec 0% [0s 0.003 % M| 3]
»
[ESIELEARN
§£127.0.0.1 (Local Probe)
»
= 100 % [114d9h49m17s 100 % [|[55970]
= Server Room HTTP 8 msec 0% [0s 0 %Mo)
»
[ESIELEARN
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h52m40s 99.997 %I[89551]
= Server Room PING 0 msec 0% [0s 0.003 % M|i3]
ESIELEARN 2 Linux
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h49m11s 100 %I[55965]
= Server Room HTTP 8 msec 0% [0s 0 %Mo)
EEIELEARN 2 Linux
££127.0.0.1 (Local Probe)
= 100 %I [114d10h7m34s 100 %I[89560]
= Server Room PING 0 msec 0% [0s 0 %Mo)
=Filr
£8127.0.0.1 (Local Probe)
= 100 %I [114d10h4m39s 100 %I[55966]
=5-Server Room HTTPS 86 msec 0% [0s 0 %Mo)
iFilr
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h37m46s 100 %I[s9539]
=5-Server Room PING 0 msec 0% [0s Y
=51 GALAXY-CS
£2127.0.0.1 (Local Probe)
»
= 100 %I [114d9h59m55s 100 %I[89559]
=5-Server Room PING 2 msec 0% [0s 0 % M|0]
»
==l Gateway
£4127.0.0.1 (Local Probe)
»
= 100 % [114d9h59m22s 100 % [|[89555]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
=51 |EP
£4127.0.0.1 (Local Probe)
»
= 100 % [114d9h45m43s 100 % [|[89556]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
E==liprint-central
E 127.0.0.1 (Local Probe)
»
= 100 % [114d9h53m42s 100 % [|[55961]
=5 Server Room HTTP 7 msec 0% [0s 0% M|0]
»
Efiprint-central
§£127.0.0.1 (Local Probe)
»
= 100 % [114d9h47m21s 100 % [|[89558]
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
Efiprint-east
£4127.0.0.1 (Local Probe)
= 100 %I [114d10h1m27s 100 %I[55963]
=" Server Room HTTP 7 msec 0% [0s 0% Mo
Efiprint-east
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h47m21s 100 %I[89556]
= Server Room PING 0 msec 0% [0s 0 %Mo)
Eliprint-hs
££127.0.0.1 (Local Probe)
= 100 %I [114d9h54m24s 100 % [|[55962]
= Server Room HTTP 8 msec 0% [0s 0 %Mo)
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. Average Uptime Good
Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 100 %I [114d10h0m28s 100 % [|[89556]
= Server Room PING 0 msec 0% 0s 0 %Mo)
Eliprint-west
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h55m4s 100 %I[55963]
=5-Server Room HTTP 7 msec 0% [0s 0 %Mo)
Esliprint-west
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h40m17s 100 %I[89556]
=5-Server Room PING 0 msec 0% [0s Y
=21k 1000
£2127.0.0.1 (Local Probe)
»
= 100 %I [114d9h50m30s 99.996 %I[55965]
=5-Server Room HTTP 101 msec 0% [0s 0.004 % W21
»
=21k 1000
£2127.0.0.1 (Local Probe)
»
= 100 % [114d9h59m38s 99.935 % |[89535]
=5-Server Room PING 0 msec 0% [0s 0.065% |(58]
»
[Ex] | 7
£2127.0.0.1 (Local Probe)
»
= 100 % [114d10h0mOs 100 % [|[89560]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
[==llanschoolcs
E 127.0.0.1 (Local Probe)
»
= 100 % [114d9h59m59s 100 % [|[89557]
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
=l | dap
£4127.0.0.1 (Local Probe)
»
= 100 % [101d1h36m34s 100 % W|[47475]
= Server Room LDAP 4 msec 0% [0s 0% Mo
»
Elidap
££127.0.0.1 (Local Probe)
»
= 99.981 % [109d4h 19m44s 99.968 % |[74531]
=" Server Room PING 0 msec 0.019 % [30m0s 0.032% |124]
[2]Ls-ROCKET (Lightspeed)
E 127.0.0.1 (Local Probe)
= 99.992 %I [109d4h4m14s 99.95 % |[49787]
= Server Room HTTPS 143 msec 0.008 % [12m27s 0.05% |[25]
[2]Ls-ROCKET (Lightspeed)
£4127.0.0.1 (Local Probe)
= 100 %I [114d9h49m58s 99.997 %I[395221
= Server Room PING 0 msec 0% [0s 0.003 % Mli3]
Eflpapercut
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h43m43s 100 %I[55946]
=5-Server Room HTTPS 139 msec 0% [0s 0% Mo
Erlpapercut
£2127.0.0.1 (Local Probe)
= 100 %I [114d10h6m30s 100 %I[s9555]
=5-Server Room PING 0 msec 0% [0s Y
il printshop
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h56m4s 100 %I[55959]
=5-Server Room HTTPS 135 msec 0% [0s 0% W01
»
==l printshop
£2127.0.0.1 (Local Probe)
»
=, 100 % [114d9h28m43s 100 % [|[89523]
=5-Server Room PING 0 msec 0% [0s 0% W01
»
==l PrintTracker
£2127.0.0.1 (Local Probe)
»
= 100 % [114d9h58m55s 100 % [|[89562]
=5-Server Room PING 6 msec 0% [0s 0% M|0]
»
EldServer Room Environment
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. Average Uptime Good
Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 100 %I [114d9h56m56s 100 % M|[55969]
= Server Room HTTP 210 msec 0% 0s 0 %Mo)
ElIServer Room Environment
£2127.0.0.1 (Local Probe)
=S 100 % I 9
=5-Server Room o [114d9h58m46s 100 % ||[89555]
N PING 0 msec 0% [0s 0% Mo
£2 sonicWall RAT
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h48m49s 100 %I[55965]
=5-Server Room HTTPS 58 msec 0% [0s 0% M|io1
B2 SonicWall RAT
£2127.0.0.1 (Local Probe)
»
= 100 %I [114d10h7m44s 100 %I[89559]
=5-Server Room PING 0 msec 0% [0s 0 % M|o]
»
==l staff2
£2127.0.0.1 (Local Probe)
»
= 99.969 % [109d3h35m31s 99.942 % |[49788]
== Server Room Staff User Folder 0 Byte 0.031% [48m3s 0.058 % |129]
»
==l staff2
£2127.0.0.1 (Local Probe)
»
= 99.975 % [109d3h44m30s 99.95 % |[49788]
== Server Room Staff Shared Folder 0 Byte 0.025 % [38m59s 0.05% |125]
»
==l staff2
E 127.0.0.1 (Local Probe)
»
= 100 % [114d9h59m40s 99.998 % (895571
= Server Room PING 0 msec 0% [0s 0.002 % Mli2]
»
Student Server (Old)
££127.0.0.1 (Local Probe)
»
= 100 % [114d10h0m47s 100 % [|[89559]
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
Exlstudent2
E 127.0.0.1 (Local Probe)
= 99.998 %I [109d4h17m33s 99.988 % |[49812]
=" Server Room Student Folders 0 Byte 0.002 % [2m46s 0.012% |16]
Exlstudent2
E 127.0.0.1 (Local Probe)
= 100 %I [109d4h19m22s 99.988 % |[49811]
= Server Room Students Shared Folder 0 Byte 0% [0s 0.012% |6]
Efstudent2
£4127.0.0.1 (Local Probe)
= 100 %I [114d10h7m29s 100 %I[39557]
= Server Room PING 0 msec 0% 0s 0 %Mo)
[ tech
£2127.0.0.1 (Local Probe)
= 100 %I [114d9h52m17s 100 %I[s9sss1
=5-Server Room PING 0 msec 0% [0s 0% Mo
[==ltech2
£2127.0.0.1 (Local Probe)
= 100 %I [109d4h 1m20s 100 %I[49s1o1
== Server Room Tech Resources Folder 0 Byte 0% [0s 0%Mo
[==ltech2
£2127.0.0.1 (Local Probe)
»
= 100 %I [114d10h6m10s 99.997 %I[89561]
=5-Server Room PING 0 msec 0% [0s 0.003 % W3]
»
[==ltransportation
£2127.0.0.1 (Local Probe)
»
= 100 % [114d9h57m11s 99.996 % [§[55965]
=5-Server Room HTTP 7 msec 0% [0s 0.004 % M| 121
»
[==ltransportation
£2127.0.0.1 (Local Probe)
»
= 100 % [114d10h7m25s 100 % [|[89560]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
E=ltran-sql
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
= 99.978 % [114d9h21m39s 99.973 % [[55953]
= Server Room HTTP 7 msec 0.022 % [36m0s 0.027% |[15]
[l tran-sql
£4127.0.0.1 (Local Probe)
= 100 %I [114d9h52m11s 100 %I[89555]
=5-Server Room PING 0 msec 0% [0s 0% Mo
EElUptime
£4127.0.0.1 (Local Probe)
=g 100 % 114d9h56m17 100 % 55965
=5-Server Room HTTP 1 00 % [ m17s 00 % W[ ]
, 60 msec 0% [0s 0 % M|0]
EElUptime
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h45m31s 100 %I[89553]
= Server Room PING 0 msec 0% [0s 0 %Mo)
ETVPU1
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h53m24s 100 %I[89558]
= Server Room PING 0 msec 0% [0s 0 %Mo)
=l wis-ldap
£%127.0.0.1 (Local Probe)
= 100 %I [114d9h50m23s 100 %I[55967]
= Server Room HTTP 6 msec 0% [0s 0 %Mo)
=l wis-ldap
£4127.0.0.1 (Local Probe)
= 100 %I [114d9h40m17s 100 %I[89556]
=5-Server Room PING 0 msec 0% [0s 0% Mo
=5l w |s-vel
4127.0.0.1 (Local Probe)
= 100 %I [114d9h46m46s 99.996 %I[55959]
=5-Server Room HTTPS 13 msec 0% [0s 0.004 % W21
==l w |s-vel
$127.0.0.1 (Local Probe)
»
= 100 %I [114d10h0m21s 100 %I[89559]
=5-Server Room PING 0 msec 0% [0s 0 % M|10]
»
EEWLS-VCMGMTI
£$127.0.0.1 (Local Probe)
»
= 99.563 % [109d17h36m1s 99.703 % [1|[87419)
=" Server Room PING 0 msec 0.437 % [11h33m9s 0.297 % ||[260]
»
E5lzenworks11
£$127.0.0.1 (Local Probe)
»
= 99.995 % [101d18h3m15s 99.917 % [[46937]
=5-Server Room RDP (Remote Desktop) 17 msec 0.005 % [7ma5s 0.083% |139]
»
Eilzenworks11
E 127.0.0.1 (Local Probe)
»
= 99.952 % [114d7h26m57s 99.804 % [[89219]
= Server Room PING 0 msec 0.048 % [1h18m40s 0.196 % |[175]
»
|@Zone Director Server (WiFi Controller)
£%127.0.0.1 (Local Probe)
»
= 99.96 % [114d6h59m41s 99.912 % [[55803]
= Server Room HTTPS 56 msec 0.04 % [1Th6m9s 0.088 % |[49]
»
|@Zone Director Server (WiFi Controller)
£%127.0.0.1 (Local Probe)
= 100 %I [110d9h47m53s 99.996 %I[7soz9]
=5'Greenwood ES PING 2 msec 0% [0s 0.004 % W3]
&% GREE-IDF
E 127.0.0.1 (Local Probe)
= 100 %I [110d9h48m18s 99.996 %I[7soz9]
=5 Greenwood ES PING 2 msec 0% [0s 0.004 % W3]
2% GREE-MDF
£%127.0.0.1 (Local Probe)
')_i'*'JGreenwood s PING 6 msec 100 % [114d9h0m56s 99.997 % M| i61613)
= 0%

»

3 GREE-SW TC-W IRELESS

[0s 0.003 % H|[2]
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. Average Uptime Good
Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
(. 100 %I [110d9h59m48s 100 % [l (78029)
= Hiawatha ES PING 2 msec 0% [0s 0% 0]
2% HIAW -IDF
£4127.0.0.1 (Local Probe)
. 100 %I [110d9h54m9s 99.994 %I [78027]
= Hiawatha ES PING 2 msec 0% [0s 0.006 % |51
28 HIAW -MDF
£4127.0.0.1 (Local Probe)
= 100 %I [114d9h0m46s 100 %I[89463]
= Hiawatha ES PING 4 msec 0% [0s 0% Mo
B0 HIAW -SW TC1-W IRELESS
£$127.0.0.1 (Local Probe)
»
=, 100 % [114d9h7m2s 99.994 % [l 189458
= Hiawatha ES
N PING 0 msec 0% [0s 0.006 % M|(5]
B0 HIAW -SW TC2-W IRELESS
£4127.0.0.1 (Local Probe)
»
= 100 % [110d9h58m30s 99.996 % [l 178049
=5-Jackman ES PING 2 msec 0% [0s 0.004 % W3]
»
&8 JACK-IDF
£$127.0.0.1 (Local Probe)
»
= 100 % [110d9h49m32s 99.996 % [l 178050
=5-Jackman ES PING 2 msec 0% [0s 0.004 % W3]
»
&8 JACK-MDF
E 127.0.0.1 (Local Probe)
»
= 100 % [110d9h57m8s 99.996 % [l 178047]
="Jackman ES PING 1 msec 0% [0s 0.004 % M|13]
»
2 JACK-MODULAR
£%127.0.0.1 (Local Probe)
»
= 100 % [114d9h7m10s 99.997 % [l 189464]
=5'Jackman ES PING 4 msec 0% [0s 0.003 % M|i3]
»
B9 JACK-SWTC1-W IRELESS
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h6m22s 99.997 %I[89463]
=5'Jackman ES PING 0 msec 0% [0s 0.003 % M|i3]
B JACK-SWTC2-W IRELESS
E 127.0.0.1 (Local Probe)
= 100 %I [114d9h5m56s 99.997 %I[89461]
=5'Jackman ES PING 2 msec 0% [0s 0.003 % W3]
£ )ACK-SW TC3-WIRELESS
£%127.0.0.1 (Local Probe)
= 99.962 % [110d8h52m53s 99.963 % |[78005]
=" McGregor ES PING 1 msec 0.038 % [1hOmOs 0.037 % |[29]
2% MCGR-IDF
£4127.0.0.1 (Local Probe)
= 99.958 % [110d8h53m55s 99.959 % [[78004]
=" McGregor £S PING 2 msec 0.042 % [Th6mOs 0.041% |[32]
4 MCGR-MDF
£4127.0.0.1 (Local Probe)
= 99.962 % [114d2h35m32s 99.966 % |[88793]
=" McGregor £S PING 2 msec 0.038 % [1Th3mOs 0.034% |[30]
B M CGR-SWTC1-WIRELESS
£$127.0.0.1 (Local Probe)
»
= 99.963 % [114d2h37m36s 99.967 % [188792]
=" McGregor £S PING 0 msec 0.037 % [1hOmOs 0.033% [[29]
»
B M CGR-SWTC2-WIRELESS
£4127.0.0.1 (Local Probe)
»
= . 100 % [110d9h2m48s 99.996 % [l|150174]
= Meadowvale ES Ping 1 msec 0% [0s 0.004 % M| 121
»
&8 MEAD-IDF
£$127.0.0.1 (Local Probe)
»
= . 100 % [110d9h12m20s 100 % 50176
= Meadowvale ES Ping 2 msec 0% [0s 0% W01
»
4 MEAD-MDF
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
= 100 %I [114d3h37m48s 100 % [l 188821
=5 Meadowvale ES PING 4 msec 0% [0s 0% 0]
EA MEAD-SWTCT-WIRELESS
£4127.0.0.1 (Local Probe)
= 100 %I [114d3h36m43s 99.998 %I[sss15]
= Meadowvale ES PING 4 msec 0% [0s 0.002 % M| 12]
B MEAD-SW TC2-W IRELESS
£4127.0.0.1 (Local Probe)
= . 99.998 %I [110d6h57m7s 99.992 %I[smao]
=" Monac BS Ping 1 msec 0.002 % [3mOs 0.008 % (4]
4 MONA-IDF
£$127.0.0.1 (Local Probe)
»
= . 99.998 %I [110d6h57m21s 99.992 %I[5013o1
=" Monac BS Ping 2 msec 0.002 % [3mOs 0.008 % M[4]
»
4 MONA-MDF
£$127.0.0.1 (Local Probe)
»
SIMonac ES PING 4 msec 99.995 %I [114d1h25m23s 99.985 % [188767]
N 0.005 % [9mOs 0.015% |[13]
B MONA-SWTC1-W IRELESS
£%127.0.0.1 (Local Probe)
= 100 %I [114d1h33m17s 99.994 %I[ss771]
="MonacES PING 4 msec 0% [0s 0.006 % M|i5]
A MONA-SWTC2-W IRELESS
£4127.0.0.1 (Local Probe)
= . 100 %I [110d9h27m4s 99.996 %I[smse]
=-Shoreland ES Ping 1 msec 0% [0s 0.004 % M| 12]
&8 SHOR-IDF
$127.0.0.1 (Local Probe)
= . 100 %I [110d9h37m18s 99.996 %I[smss}
== Shoreland ES Ping 2 msec 0% [0s 0.004 % M 12]
&8 SHOR-MDF
$127.0.0.1 (Local Probe)
»
= 100 %I [114d3h49m8s 99.998 %I[88816]
=5-Shoreland ES PING 5 msec 0% [0s 0.002 % M 12]
»
B SHOR-SWTC1-W IRELESS
£$127.0.0.1 (Local Probe)
»
= 100 % [114d3h41m23s 99.998 % [l 188812]
=5-Shoreland ES PING 4 msec 0% [0s 0.002 % W21
»
B SHOR-SW TC2-W IRELESS
£$127.0.0.1 (Local Probe)
»
= . 100 % [110d9h9m59s 99.996 % [l|150175]
= Wernert ES Ping 2 msec 0% [0s 0.004 % M| 121
»
&8 WERN-IDF
E 127.0.0.1 (Local Probe)
»
= . 100 % [110d9h9m11s 99.996 % [l|150174]
= Wernert ES Ping 2 msec 0% [0s 0.004 % W21
»
% WERN-MDF
£%127.0.0.1 (Local Probe)
»
= 100 %I [114d3h39m23s 99.997 %I[aaaon
= Wernert ES PING 5 msec 0% [0s 0.003 % M|i3]
»
B3 W ERN-SWTCT-WIRELESS
£%127.0.0.1 (Local Probe)
»
= 100 %I [114d3h29m29s 99.994 %I[88785]
= Wernert ES PING 4 msec 0% [0s 0.006 % M|[5]
B3 W ERN-SWTC2-W IRELESS
E 127.0.0.1 (Local Probe)
= ) 100 %I [110d9h3m49s 100 %I[smee]
=" Jefferson JH Ping 3 msec 0% [0s 0 %Mo)
2% JEFF-IDF-2
£%127.0.0.1 (Local Probe)
= ) 100 % [110d8h57m5s 100 % | 50166)
= Jefferson JH Ping 1 msec 0 %I [0s 0 %Mo)

»

9% JEFF-IDF3
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
= ) 100 %I [110d9h6m10s 100 % | 50165)
=" Jefferson JH Ping 2 msec 0% [0s 0% 0]
2% JEFF-MDF-1
£4127.0.0.1 (Local Probe)
= . 100 %I [110d9h3m46s 100 %I[50167]
=" Jefferson JH Ping 2 msec 0% [0s 0% 0]
D% JEFF-MDF-2
£4127.0.0.1 (Local Probe)
“ 100 % 114d9h4m25 100 % [l 189458
E'_"Jefferson JH PING 3 msec Og ‘%:I [ m [Oz 08 ‘VZI {0] !
= JEFF-SWTCT-WIRELESS
£$127.0.0.1 (Local Probe)
»

100 % 114d9h 100 4
E'_"Jefferson JH PING 6 msec Og Q//ZI [ d9 3m3[gz 08 "/A;I {319 >9]
»

1 JEFF-SW TC2-W IRELESS

£$127.0.0.1 (Local Probe)

»

2,

= jefferson JH 100 %I [114d8h54m25s 100 %I[s9455]
=

- PING 4 msec 0% [0s 0 % [|[0]

1 JEFF-SW TC3-W IRELESS

£%127.0.0.1 (Local Probe)

2 100 % 110d9h8m24 100 % [l 50168
g'_'-‘Washington JH Ping 2 msec 0%‘:' ( m [Oz O%iI{O] !
2% WASH-IDF

£4127.0.0.1 (Local Probe)

“ 100 % 110d9h7m59 100 % [l 50167
E'_"Washington JH Ping 3 msec O‘%ZI [ m [0: O%iI{O] !
8 WASH-MDF-1

£4127.0.0.1 (Local Probe)

“ 100 % 110d9h7m41 100 % [l 50167
E'_"Washington JH Ping 2 msec og%il [ m [Oz OS‘VZI{OI !
8 WASH-MDF-2

4127.0.0.1 (Local Probe)

»

100 % 114d3h15m1 100 7
E'_"Washington JH PING 6 msec Ogo//:I [ d3h15m [(3)2 Ogo/fl{g? 88]
»

B W ASH-SWTC1-WIRELESS

£$127.0.0.1 (Local Probe)

“ 9 114d3h15m2 9 787
E'_"Washington JH PING 4 msec 108;2' [ d3 Sm[oz 108;;'{3? 871
»

B W ASH-SWTC2-W IRELESS

£$127.0.0.1 (Local Probe)

“ 9 110d9h7m21 9 17
E'_"Whitmer CTC Ping 2 msec 108 ;‘:I [110d9h7m [Oz 108 o/fl {g? 9
»

&8 CTC-IDF-101

E 127.0.0.1 (Local Probe)

> oy oy
g'_"Whitmer CTC Ping 3 msec 108 ;:I o 10d9h7m[z: 108 ;;I {3?179]
»

&8 cTC-IDF-102

£%127.0.0.1 (Local Probe)

»

(=T . 100 % [110d9h7m2s 100 % /150179
=" Whitmer CTC Ping 3 msec 0% [0s 0 %Mo)

»

58 cTC-IDF-2

£%127.0.0.1 (Local Probe)

»

100 % 110d9h6m55 100 % [l ;50177
g'_'lwhitmer CTC Ping 1T msec 0 ‘,/:I t m [02 0 %C:I {0] !
&2 CTC-IDF3
E 127.0.0.1 (Local Probe)

(=TT . 100 %I [110d9h6m49s 100 %I[50177]
=" Whitmer CTC Ping 2 msec 0% [0s 0% 0]

2% CTC-MDF-1

£%127.0.0.1 (Local Probe)

(=T . 100 %I [110d8h55m7s 100 % | 150163)
=" Whitmer CTC Ping 2 msec 0% [0s 0% |01

»

28 CTC-MDF-2
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. Average Uptime Good
Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
I 100 %I [114d9h9m36s 100 % M[89482]
=" Whitmer CTC PING 0 msec 0% [0s 0% 0]
] CTC-SW TC1-W IRELESS
£4127.0.0.1 (Local Probe)
T 100 %I [114d9h 1m29s 100 %I[s947s1
=" Whitmer CTC PING 4 msec 0% [0s 0% |01
[ CTC-SW TC2-W IRELESS
£4127.0.0.1 (Local Probe)
= 100%' [114d9h1m21s 100%'[89481]
=" Whitmer CTC PING 3 msec 0% [0s 0%Mo
=] CTC-SW TC3-W IRELESS
£$127.0.0.1 (Local Probe)
»
=T 100 %I [110d9h54m30s 100 %I [78047]
=5 Tran-Maint PING 2 msec 0% [0s 0 % W01
»
&% TRAN-MDF
£$127.0.0.1 (Local Probe)
»
(- 100 % [114d3h18m54s 100 % 88767
=5 Tran-Maint PING 1 msec 0% [0s 0% W01
»
51 TRAN-SW TC-W IRELESS
£$127.0.0.1 (Local Probe)
»
= T 100 % [113d16h23m16s 100 %I[374201
=" Administration Bld
? 9 PING 0 msec 0 %I [0s 0 % (0]
I:IADMI—Barracuda—OH
E 127.0.0.1 (Local Probe)
»
o 100 % [113d16h22m27s 100 % M| [54899]
= Administration Bldg HTTP 187 msec 0% [0s 0% |01
»
DADMI—Barracuda—Oﬂ
£%127.0.0.1 (Local Probe)
»
=T 100 % [113d16h22m48s 100 % M[87415]
= Administration Bldg PING 0 msec 0% [0s 0 %Mo)
»
[[JaDMI-Barracusa-012
E 127.0.0.1 (Local Probe)
(T 100%' [113d16h13m19s 100%'[54895]
= Administration Bldg HTTP 185 msec 0% [0s 0 %Mo)
DADMI»Barracusa-mZ
E 127.0.0.1 (Local Probe)
T 100 %I [110d9h40m53s 100 %I[78031]
= Administration Bldg PING 3 msec 0% [0s 0% 0]
2% ADMI-IDF
£%127.0.0.1 (Local Probe)
(T 100 %I [113d15h49m47s 100 %I[373901
= Administration Bldg PING 2 msec 0% [0s 0% 0]
E=I ADMI-MDF
£4127.0.0.1 (Local Probe)
T 100 %I [110d9h40m10s 100 %I[78030]
=5 Administration Bldg PING 2 msec 0% [0s 0% 0]
&8 ADMI-MDF
£4127.0.0.1 (Local Probe)
= N 100 %I [114d8h59m18s 100 %I[s9450]
='Administration Bldg PING 4 msec 0% [0s 0% Mo
= ADMI-SW TC1-W IRELESS
£4127.0.0.1 (Local Probe)
»
= N 100 %I [113d15h58m54s 100 %I[a74o71
='Administration Bldg PING 4 msec 0% [0s 0% Mo
»
1 ADMI-SW TC2-W IRELESS
£$127.0.0.1 (Local Probe)
»
= N 100 % [112d11h6m46s 100 % [M183944]
= Administration Bldg PING 0 msec 0% [0s 0% M|0]
»
EElw Is-co
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